[image: image1.jpg]28. What number of moles of O, is needed to 32. Two flexible containers for gases are at the
produce 14.2 grams of P,O | (molecular temperature and pressure. One holds (.50}
mass = 284 g) from P? of hydrogen and the other holds 8.0 grams

‘oxygen. Which of the following statements

(A)0.0500 mole regarding these gas samples is FALSE?

(B) 0.0625 mole

(€) 0.125 mole same as the volume of the oxygen con
(2} 0.250 mole (B) The number of molecules in the hydro

(E) 0.500 mole container is the same as the number of
molecules in the oxygen container.

. If 0.060 faraday is passed through an electro- (C) The density of the hydrogen sampleis}
lytic cell containing a solution of In* ions, the than that of the oxygen sample.
maximum number of moles of In that could be (D) The average kinetic energy of the hy
deposited at the cathode is molecules is the same as the average ki

energy of the oxygen molecules.

(4)0.010 mole (E) The average speed of the hydrogen mo!

(B) 0.020 mole cules is the same as the average speed

(C) 0.030 mole oxygen molecules.
(D) 0.060 mole

(E) 0.18 mole . Pi ('rr) bonding occurs in each of the foll
species EXCEPT ,

(A) The volume of the hydrogen contair

. CH,(g) +20,(g) = CO,(g) +2 H,0(/) (A)CO,
AHorm =-889.1 kJ (B) CH
g 2774

AH? H,0(1) = ~285.8 kJ/mole (C)CN
AH° CO,(g) =-393.3 ki/mole (D) CH,
(E) CH,
What is the standard heat of formation, AH °,
of methane, CH,(g), as calculated from the
data above?

.3 Ag(s) + 4 HNO, 5 3 AgNO, + NO(g) £2

The reaction of silver metal and dilute
(4)-210.0 kJ/mole acid proceeds according to the equation ab
(B)-107.5 kJ/mole If 0.10 mole of powdered silver is added ¢
(C) —75.8 kJ/mole milliliters of 6.0-molar nitric acid, the num
(D) 75.8 kJ/mole of moles of NO gas that can be formed

(B) 0.020 mole
. Each of the following can act as both a Brensted (C) 0.030 mole
acid and a Bronsted base EXCEPT (D) 0.045 mole

(A)HCO;" (E) 0.090 mole
(B) H,PO,-
(C)NH,’
(D)H,0
(E) HS





